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me given by A = 2Lin where n is a positive integer. (b) Derive » general expression for
the allowed Kinetic energy of the peoton and compute the values forn = 1and2.
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| 4 = 2.0-cm wavelength that are 0.25 ps .

duration. (@) What is the length of the wave packet = AN
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5.24. A particle moving in one dimension between rigid walls separated by a distance
L has the wave function W(x) = A sin{wa/l). Since the particle must remain between the
vaalls, what must be the value of A?
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£ 97 If an excited state of an stom is known 10 have a lifetime of 107 s, what is the
wncertainty in the cacrgy of photons emitted by such atoms in the spontaneous decay (o
the ground staee?

SEgt = 1




[ usnam-system particls is cqual 1 its do B
wm"“'mmmmmmofmemafmm?

)/
bbb warlteshy o S pe  phemy = 3:g

I14p2 L

| 534 A ncutron bes » kinctic energy of 10 MeV, What sizs objoct is necessary % observe
F weutron diffraction effects? Is there anything in nature of this size that couk! serve as & ;
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